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Multipli.cati.on of & Number bg 10,100, 1000 and their Multiples

1. To multiply a number by 10, 20, 30 .
respectively and put one zero to the right
Examples: 287 X 10=2,870

| 3287 X 30=(3287 x 3) X 10 = 9861 x 10 = 98,610
2. To mulFlply a number by 100, 200, 300, ..., 900, we multi
respectively and put two zeros to the right of the product.

Examples: 175 X 100=17,500

829 X 800=(829 x 8) x 100 = 6632 X 100 = 6,63,200

3. To multiply a number by 1000, 2000, 3000, .., 9000, we multiply the number by1,2,3,..,9
respectively and put three zeros to the right of the product.

Examples: 128 X 1000=1,28,000
3557 X 4000=(3557 x 4) X 1000 = 14228 x 1000 = 1,42,28,000

«» 90, we multiply the number by 1,2 3, .., 9
of the product.

ply the number by 1, 2, 3, e 9

Use Cordova Smart Class Software on the smart board in class to do Exercise.
1. Fill in the blanks using the multiplication facts :

3 i 3

(@ 2875 x | 0 | =0 (b) 4217 x| | | = 4217
(c) 82728 x 0 = | O (d) 1 x 8288 = [8288

(€ 7125 x 3111 = 3111 x |[7125] ) [8175] x 4200=4200 x 8175

(g 72 X (50 X 8) = (72 X 50) X | & ‘=|5‘o X (72 X 8)

2. Multiply :

J

F 12 b) 2369° x 70 = [|65830
757710

(@ 178 x 40 =

i

774900 (d) 12629 X 600
16185009 (f) 6359 X 3000

3. Find the product (using distributive property) :

(c) 861 x 900 =

907700

(€) 9297 x 5000 =

= (b) 83 X 96 =
(a) 58 x 107 = |
(c) 42 172 = (d 18 x 3065 =
C X = | _1
3 x 98 = ]
(e) 67 x 99 = E (f) 73 X

Cordova Learning Series MATHEMATICS-5 ‘ 27



s et the quotient
ve digits t0 & '
3. To divide a number by 1,00,000, we simply remove the last fi 706
. y ’ ' 82/___;
The last five digits together form the remainder. J L ——

uotient
Example :  8,28,796 + 1,00,000 Q

—

- 7 - —= '
\ W , A= ~ . a2

| in class to do Exercise.
Use Cordova Smart Class Software on the smart board In cl

1. Fill in the blanks : ST R S——
@ 12547 + 1 = JR2H % (b) 87450 + 8 .
- = e L % ) I o T— +35=
(© 0 <+ 99999 = ... Q... (d) S it

2. Find a number which when divided by 35 gives the quotient 22 an dr .

3. 3699 when divided by a certain number gives 231 as the quotient and 3 as the remainde
Find the number.

4. Find the quotient and remainder.
(a) 62847 + 1000 (b) 723456 + 10000 (c) 612345 + 10000 .
(d) 817567 <+ 100000 (e) 1745678 =+ 100000 () 8012345 + 100000

Division by 3-digit and 4-digit Numbers

Dividing a number by a 3-digit or 4-digit number is similar to the method learnt in Class IV.
Example 1: Divide 8,25,476 by 172.

Solution : 4799
1725825476 .
1 Checking
gl Dividend = Divj \
o idend = Divisor X Quotient + Remainder
= 17
1204 82><4799+48
1707 WSMG.
- 1548
Z 9277 4 7
1596 5 -
- 1548 \Q\]L__.Z,
SR S)
48 3 3 5 2 8
+ 4 9 3 0
Quotient = 4799 M
8
Remainder = 48 g S 4 7 8

30 Cordova Learning Series MATHEMATICS-5
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